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COMMERCE
(Honours Generic)
Answer the Questions from any one Option.
OPTION-A
Paper : COM-HG-3016
(Business Statistics)

Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer Question Nos. 1, 2, 3 and any four
from the rest.

1, 2, 3 T 297 ©GF o SIF A AT #A7
Rireic bifebre ©e a1

Answer either in English or in Assamese.
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1. (a) Select the correct answer 1x4=4 ‘ (c) origin and scale
W% Ues R < 3 |

R o R
()  Sum of the g

quares of deviations

of the g%ven set of observations ; (d) None of the above
from their arithmetic mean is 4 @93 18 3333
BT ATRRE S Mg R Roemisg | (i) Seasonal variations are
(@ maximum : (a) short-term variations
() minimum ; (b) long-term variations
Tox | AT el
(¢) zero (c) sudden variations
Ry 2l @RI Sl
(d) None of the above (d) cyclical variations
RO v it |
i - , . ot is
" o g s epenens ) oiaiaie by e fomla.
%W%ﬁﬁaﬁwmﬁ@ﬁm o weliss e 70 @O T
(@) origin =
ey @ 5
K ;::Ie | (b) -z_-x 100
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(b) Fill in the blanks :

()

© Zx100
a

(d) o

1x3=3
fET 91 wferat ¢

(i) An index number is a special type
of

THIE I [ oy |

(i) Correlation coefficient is
of two regression coefficients,
TR GRS (27 TR welicE wo
1

(i) 1f A and B are mutually exclusive
events, P(ANB)=
W A W% B R Rafie w6 =,
(9% P(ANB)= |

Write True or False :

) (o STy ol ¢

(i) An average alone is sufficient to
understand the basic characteristics
of a frequency distribution.
<! TR Rerera 351 W@ e
AT 9 G5E B |

(i) Mean of binomial distribution is
always greater than variance.
oot <% W14y 2Rt M whed|

1x2=2
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(d)

Answer the following questions :

What do you mean by sample ? 1
eifons e & e

2x5=10

SR R i (G S SR R

(@)

(b)

(@)

(e)

What is estimation ?

Sl 2

Write two properties of correlation
coefficient.

TTEE QN 707 4 feral |

Two regression coefficients in a

distribution are calculated as -1-:89 and

—-0-52. Is 1t possible ? Justify your
answer.

<6} Reiem™ 75! AEe e Siesd SR
—1-89 ©[IF: —0-52 (il 51’57 | 26! &1 T 2
R Yew gfegesl Tl

Find E(X) for the following probability
distribution of X :

X 3 sfeiie seifet 3% i@ E(X) Fefa
9l ¢

X: 01 2 3
: A 3

P: 34 %1%
Define skewness.
oA wicEE W |
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3. Answer any four of the following questions :
5x4=20

oW fReica i e Tes T ¢

(a) What is sample survey ? Write the

advantages and disadvantages of
sample survey.

efomf 7w B2 ofond il 9Ra o
SRR |
(b) Prove that the expectation of a random

variable x is equal to the arithmetic
mean.

2SI 3] (T, <GB! IO Gerd X Nifafess eregi
BEFOR R TG F |

(c) Discuss briefly various problems

involved in the construction of index
numbers.

TR N (RIS BT (R TR 50T
S |

(d) Given the two regression equations as
follows :

4x-5y+33=0 and 20x-9y-107 =0

Find the correlation coefficient between
x and y.

TR T Y1 Gore Tt seaeeia firnt i 8
4x -5y +33=09% 20x-9y-107 =0
X IR y I SrS AT @elieT Sferedi |
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(e) State the additive law of probability and
explain it with an example.

ARSI @IS STEY I SR @Bl
SR i1 I |
() What do you mean by correlation

between two variables ? Mention
different types of correlation.

7o eRIRR Sie weTea e & 3@y /iy
YPIRT ADTITTR B 9

4. (a) A study of 100 companies gives the
following information :

100 B @IINIT R SR TR ool SYRE
(it or'e ¢
Profit (2 in crore)  : 0-10 10-20 20-30 30-40 40-50 50-60
e (i Gare)

Number of companies: 8 12 20 30 20 10
@I A4

Calculate mean and standard deviation
of the profit earned. 3+3=6

THiifEre wes W e T Roew FfR
(b) Mention the desirable properties of a

good measure of dispersion. 4
<51 Ol R5p391 MR SRMIFR 4@ e
41
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(a) Find the coefficient of correlation

(b)

(@)

(b)

between X and Y from the following
data : 6

et el LRI 7= X SR Y 9 SiEE AR
wojje [T 5 ¢

X:1069101213119
FLang b ply. 13 . 8 9

What is a regression line ? What
purpose does it serve ? When are the
two regression lines identical ?

D=5
srEe @ B 2 % T e S 2 FeE
@2 TOF (Sfeal Ot =

What is a binomial probability
distribution ? Mention the properties
of this distribution. 2+4=6

faom TEiiel 954 7 @ I%a9 g TrEd
Bl

In a business a person can make 2
profit of % 2,00,000 with a probability

of 0-4 or have a loss of ¥ 1,00,000 with

a probability of 0-6. What is his
expected profit ? 4

41 TS T TE 2,00,000 T A
<4 SISl 04 A 1,00,000 57 T
AR TSRSl 0-6 | (967 Fes eroil e

4 (Sem-3/CBCS) HO1/HG2/G 8

Ts

(@) Write the probability density function

(b)

(@)

(b)

of a normal distribution. Under what
conditions a binomial distribution tends
to a normal distribution ? 3+2=5
AT 6T BN TSl FEACe! Tl |
AR TOAICATE a1 fasim 1% LN
IG5 “ARafoo =2

If 5% of electric bulbs manufactured
by a company are defective, find the
probability that in a sample of 100
bulbs (i) 3 bulbs will be defective and
(ii)) none will be defective.

(Given e =0-007) 5
i @51 riiia Term 1 Rt i< forard
5% @HYE =, (SEEE 100 T Rgamifs

o) 2lfen<l «oTe (i) 351 FHge Rgs e 49,
wiE: (i) ble @y Reeaife T Aeliel

e w1 | (e =iiez e~5 = 0-007)

What is time series ? Explain various
components of time series. 6

FEET o aEaE [fes ol aml
F9 |

Calculate Fisher’s price index number
from the data given below : 4

wore Tl ©UAR #[l e e eI aiei
| ¢
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Commodity Price per unit Quantities
(2) (Quintal)
AN S @S (3) ARwIe (335
2015 2020 2015 2020
A 6 10 S0 56
B 2 2 100 120
G 4 6 60 60
D 10 12 30 24
E 8 1 40 36
9. (a) What is estimator ? Write the

()

10. (@)

(b)

characteristics of a good estimator.
2+4=6
SR 52 <51 ©f Wik R B |

Explain null hypothesis and alternative
hypothesis. 4

e 4w oI [Raw o = o4 |

Write the definitions of arithmetic
mean, median and mode. Mention one
use of each of these three measures.
6
TGS 3, S S IZTme Aews| el | G2
fofibl v 2fetbia IBite wrmR e o |

Given below the mean, median and
standard deviation of two distributions.
Determine which distribution is more
skewed. 4
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11.

(@)

(b)

CETS UG D 4, TGl Wi A Keiwa
T T =g | et 3% @fg Siefen [
Sl
(i) Mean (314) = 22

Median (3&5l) = 24

Standard deviation (2iifes &5e@) = 10
(i) Mean () = 22

Median (J45¥) = 25

Standard deviation (&ife=s &5am) = 12

What is cost of living index number ?
Discuss the importance of cost of living
index number. 5

Slen T 3 peiks [Fe G FE 9
HFIFT GG ST T |

A can hit a target thrice in 5 shots, B
twice in 5 shots and C thrice in 4 shots.

They fire a volley. What is the
probability that A and B can hit the

target and C cannot hit ? 5
A & 95 FTERES 5 I fPeTe 3 99, B @

5 IR [To3® 2 T = C 9 4 7 fooTs
fofFar wlalz aNe sRke 9@ esEE
THCOICE SAIAE | A O B @ IRHT SIS
T 21 W= C @ IGEIF SE© FE @R
el i ¢
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OPTION-B
Paper : COM-HG-3026
( Operation Research in Business)

Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer Question Nos. 1, 2, 3 and any four
from the rest.

o gAld GGd Gifdar @i AF] e A
il i Gaq il

rin Assamese.

1, 2,97

ther i EﬂgllSh o

Answer €t
s directed :

+ the following & 1><10"'10

AnsWC

R RIGISE fergetiegaral ©ed frrat ¢

Wwhat 18 network ?

(ct)
e e 52

(b) What is event ?
LIRIGRSE

() What is PERT ?
ol it 2
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(e)

(0

(9)

()

()

0)

Answer the following in short :

What is CPM ?
CPM Sits & ¢

The word inventory means
TGS AE FHGIE [ Ia I

Write one benefit of controlling
inventory.

TGS AR FaEe S 95 TR
Write one limitation of EOQ.

firear) a5~ Bl AuREel &l |

The set of feasible solutions to an LPP
isa____ set

AigEe (ST A@NOF @6 AT AL
EEeiNIe) 53fe 29|

What is adjacent activity ?

=il wifs SAfeEm S /6

What is ABC analysis ?

ABC Rrsige e e

2x5=10

weTe AR 5 Ued Wl ¢
(@) What is the difference between ABC

analysis and VED analysis ?

ABC fiwd @@ VED Rewes wisre «iidw
e
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(b) What is graphical method ?
ERE RfSE M e

(c) Define EOQ in inventory control.

TGS #193 Fagere et s sfkwe 7wl
foralt

(d) When do we replace an item ?
451 78 CIfen e T A2

(e) What is shortage cost ?

5f6 46 WA &2

3. Answer any four questions : 5x4=20

el Bifan! em Ted ol ¢

(@) Write the conept of linear programminé

743 A SRUTAR forl|

14
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() Solve graphically the linear

programming problem (LPP) :

@R TP AMLRG! R AR TS
; ANYN ¥ 2

Maximize Z =2x; +3x;

1 subject to (59 ATE)

-x +2xy <4
X +X, <6

X% +3x,<9
Xy, X, 20

()

Explain different types of replacement
models.

Rfen 1@ W 0 TR I T

Discuss various costs involved in
inventory models.

TG #ANR TR RfSR 463 SHcEnal F 4|

Group the items given below into an
ABC classification :

ABC (& 921 ©isl oo il Sz oS ABC
e Refs 30 8
temNo. : 3 4 2 1 7 8 6 5 9 10
TR
Anmual Usage: 75 37 14 36 32 8 16 1l 95 4
(in 000 Rs)
I bW

(d)

(e)
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i and
(€ () Construct g network diagram

4 (Sem-3/CBCS) Hg

the
find the EST and LST for
following data :

R S o g o T
EST @R LST et ¢ |
Description Successor  Time 1B
Activity ~ minute®
Start A 0
S .
Proceeding Jettey B 4
TR Gikg
Dictating letter D 3
SRR g
Order executiop E 7
e
Supervision . 6
Rt
Dispatching P 9
W R
f:;lSh None 0

Problem

1/HG2/q

18

nt
Chefits of replaceme

(d) Explain briefly the replacement of items

(e)

(f) What are the costs associ

whose maintenance cost increases with

time and the value of money also
changes with time.

I TN T I GRS TR TR s,

ol I W AR 4 T (IR e S
FCFCA IR <[] |

Write short notes on -

53 (Gl fovet ¢

(i) Nature and characteristic of O.R.
O.R. I (b1 =% Reme) et

(i) The carrying cost or storage cost

IDA 236 A TN w1

ated with
guish between

chastic mode] in
4+6=10

TGS AU TN (TR T @i [y

A2 TGS A TEORRRRT o S
I GO N &y

inventory ? Distin
deterministic and sto
inventory theorem.
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: utiont
(9) Write an €xplanatory note on evol
of operation research.

A R R R <z 7
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